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Projects should have an "end" period or review 
period to "renew", once some kind of 
target/mission was achieved. What is the criteria 
to measure (i.e. KPI: key performance index) in 
case of this project?

How is the international assessment for outputs 
performed so far by OISTER telescope network? 
If you have some evidences, please show them 
in the document.
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No concrete science case is given. Please 
provide top 3 science cases with necessary 
activation time and time resolution.

Are there similar observing system in Asia or in 
the world? Any advantange of this program, 
sensitivity, polarization, reaction time etc.?

Similar concepts can be seen in other telescopes 
and collaboration has been promoted worldwide. 
What is the advantage of the OISTER compared 
with the other projects? 
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